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Higher Secondary (Vocational) Examination, 2011

CLASS XTI
(For Regular & Casual Candidates)

" HeavLta Care

Time Allowed: 2 Hours ' Full Marks: 50

[Answers can be written in English or Bengali or Hindi or Nepali only. |
Question No. 1 is compulsory and answer any four Sfrom the rest,

. (A) Fill in the blanks (any five): 5x1=3
(i) For deficiency of proteininbody ___ disease occurs.
(ii) Deficiency of Vit-K level is decreased in blood,
(i) The daily requirement of Ca of a pregnant women is
(iv) Trachea is covered by
(v) The full formof WHO.is__
(vi) Red blood corpuscles helps in transportof ____ in body.
(B) State True or False (any five): 5x1=5
(i) Dyspnoea is made by larynx cartilage.
(i) Digestion power decreases in old age.
(iii) During last 6 months pregnancy, the daily requirement of Iron is 2-3 mg.
(iv) According to ICMR the basic food is divided into 11 groups.
(v} Nervous system is divided into 3 types.
{(v1} Conjunctivitis is a problm of nose.

Write about the nutritional necessity of old age. Which food should appear in the daily food chart of an

old man and why? 6+4=10

- Define health. How good health should be maintained? Explain whether food can only maintain good
health? 245+3=10

- What are the symptoms of Jaundice? What type of treatment and dietary and theraputic measures should be
taken during this disease? 446=10

. Write about the care of Eye. What are Dental Caries and Pyorrhea? 345=10

- Classify the Nervous System. Write about them in short, 2+8=10
7. Write short notes (any four): 4x2;=10

(i) Glucoma;

(i1} Anacmia;

(i) Spinal cord;

(iv) Nutritive role of protein;
(v} Causes of malnutrition.
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[Bengali Version]
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